Efficiency vs Dxy(PV)
0.5

0.45]
o 0.4
20.35
0.3]
0.25]
0.2
0.15]
0.1

vs dxy(PV)

efficien:

0.05

| T TS U PO A TN UV PO P

Ratio

=20 -15 -10 -5 0 5 10 15 20
TP dxy(PV) (cm)

—=— DQM_original_step2_tthar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

I Efficienc] —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

< 0.5

>

Efficiency vs Dz(PV)

0.5
0.45
2 04
3
80,35

dz(PV)

o
)
ol
L LN L L) AL LRy LAy L LR L

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

.OF

o
i
ol BT ALY LA

Ratio
=
I

Lo i h
- :
ooff Hiff- a
0. X " A

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


